LT151/LTM151
| C € Eneoorar

1= 3 4

- WA
= -

H - — -

WITH HIGH FREQUENCY

=50

MACHINE TORCH
P<= S
k 1/4G
‘ 24a
M14X1 ”
: Wi —
& M16X1.5

26 Central adaptor
|_ RRE R

Technical Data #AREH

Current FERBR 150 Amp

Duty Cycle &% 60%

Gas S AR =5

Gas Pressure S[E 4.5-5.0 Bar

Gas Flow Sift# 220LPM

Ignition 313753 HF @5

Post Flow S{#ERT 150sec. recommended ##F 1505
Standard Length ¥R 6M

v,

C € Eneoorat

HAND TORCH

[“Codo [Ret | oescripion | Code | Ret | Descripion

IVT6550
IVT6551
IVT6553
IVT6557
IVT6559

MACHINE TORCH

IVT0759
IVT0751
IVT0672
IVT0753
IVT0757

Plasma cutting autotorch LTMI1/6m M16x1. 5% EF S TEILTISL6mM16XLS IVT0754

PA1550  Plasmacuttingtorch LT1516m M14x1;% EFTIILTIS6mML4xL IVT6556 Plasma cutting torch LT151/12m M14x1;% BFAIILTISL12mM14x1
Plasma cutting torch LT151/6m 3/86;% EF S EIILT151/6m 318G IVT6552 Plasma cutting torch LT151/12m 3186;% &F 1 /#/LT151/12m 3/8G.
Pl hLT! x15 IVT6554 Plasma cuttingtorch LT151/12m M16x1.5:% & F4I8#/LTL51/12m/ML6xL.5
Plasma cutting torch LT151/6m 114G % EFIHIHILTISU6m 1146 IVT6558 Plasma cutting torch LT151/12m 1/46;% EFEI#ILT151/12m 114G

PA1554  Plasmacuttingtorch LT151/6m central adaptor.¥ BFSAIRILTISUGMBARES  IVT6555 Plasma cutting torch LT151/12m central adaptor. % & F41#1ILT151/12m/d &k

(Rt | Doscription | Code [ Ret | Doscripton |

Plasma cutting auto torch LTMISLI6m 1/4G;% &7 & &I#ILT151/6m 1146 IVT0755 Plasma cuting auto torch LTMIS1/12m 114G % &7 B & EIRILTI51/12m 1146
Plasma cutting auto torch LTM151/6m 3186, &F & 215081 ILT151/6m 386 IVT0752 Plasma cuting auto torch LTM151/12m 318G, &7 B &IMILTI51112m 318G
PA0127  Plasmacuttingautotorch LTMISLI6m M14x1:5 E7 BaHIABILTIS 6mIML4xL IVT0673 % BT BRI il

52 EFAHTHILTISIMMIES

Plasma cutting auto torch LTMI5L/6m central adaptor ¥ BF SHIEBLTISURRES  IVTO758 BT AL

15.1
=2
15.3
15.4
16
17
17a

18
19
20
21
22
22.1
22.2
22.3
22.4
22.5
23
24
24a
25
25.1
25.2
25.3
25.4
26

ISM0059
ISM0094
ISM0093
1IVS0686 PC0131
ISM6605 CV1105
IHJ0684
IVS0670 PC0120

IVU0604-14 PD0109-14
IVU0604-16 PD0109-16
IVU0604-18 PD0109-18
1IVU0604-30 PD0109-30

IVF0608 PE0103
IVB0666 PRO111
1ZNO768
ISM0099
ISM0003 CV0008
ISM0004 CV0009

IVU0662-14 PD0117-14
IVU0662-17 PD0117-17
IVU0662-19 PD0117-19
IVU0666 PDO0111
IVB0661 PRO116
IVZ0610

IFT0686 EA0131
IVF9007

IGV0035

IHJ0722

IHQ0070 185.0031
IHJ0894

IVN00316060-00
IVN00316066-00
IVN10316060-00
1VN10316066-00

IVN0699

1CG6006

1IVZ0666 PFO111
IGV0013

1275687
1ZT5686
1ZT5688
1275689
1Z2X0078 FY0023
1SM0077 CV0022

Gouging spacer/LT151;3 O # % 42 LT151

Spacer spring for ISM0093;F% & ¥ /f2 41SM0093

Spring holder protection nut;FaE ¥ E E R I 4R &

Outside nozzle LT141-151;5MEEM§ LT141-151
Spacer/LT151;FEEH/LT151

Nozzle shield/LT151; MM {RPIE/LT151

Outside nozzle LT151;5MEEHE/LT151

Tip:

Tip ® 1.4mm LT151;85H ® 1.4mm/LT151

Tip ® 1.6mm LT151;1iH ® 1.6mm/LT151

Tip ® 1.8mm LT151;i5H ® 1.8mm/LT151

Tip ® 3.0mm LT151;8iH & 3.0mm/LT151

Diffuser LT151;43 it #% LT151

Electrode Plasma LT151;% % F B4R LT151

Air tube/LT141-151; S5/ & LT141-151

Locking nut;$i S48 &

Contact cutting attachment/LT100-151;3f# ] #I %4718 LT100-151
Long contact cutting attachment/LT100-151; &3k ) &= 18 LT100-151
Tip; R

Extended tip ® 1.4mm/LT101-151; 04 HiH ® 1.4mm/LT101-151
Extended tip ® 1.7mm/LT101-151; /0 Bik% ® 1.7mm/LT101-151
Extended tip ® 1.9mm/LT101-151; i< ik ® 1.9mm/LT101-151
Extended tip 50A/LT101-151; & MiH50A/LT101-151

Extended electrode Plasma LT101-151; iK% & F#4R LT101-151
Plasma torch head LT151;% & F48 3k LTM151

“O"ring ® 18.77 x 1.78mm in silicon;O& & ® 18.77x1.78mm/FEAL
Frontinsulator/LT141-151; {8 Hifism 44 LT141-151

Plasma handle manual/A Series/Red;% & F F L F /AR &
Protection part/Plasma/Yellow; FF X R 1S KIS E FRIE R

Trigger; 7F 3

Joint/big/new type;ER ¥ E H/A/F X

Cable assembly; B #4840

Cable assembly/LT141-151/16MQ/6M center adaptor; EB4648/L T141-151/16MMQ/6MAR R ik
Cable assembly/LT141-151/16MQ/6M ATT.1/8G; B 4548/L T141-151/16MMQ/6M ATT.1/8G
Cable assembly/LTM141-151/16MQ/6M center adaptor; EE4§48/L TM141-151/16MMQ/6MFR SR sk
Cable assembly/LTM141-151/16MQ/6M ATT.1/8G;HL44R/LTM141-151/16MMQ/6M ATT.1/8G
Cable assembly/LT141-151/6M central adaptor; B #£8/L T141-151/6m/mh Rifisk
Spanner for Plasma; ¥ 8 Fit ik F

Plasmatorch head LTM150;% & F 4t 5k LTM151

Fiber glass position tube/LTM; B &4t F1& LTM

Cable assembly LTM;E 4540 LTM

Connecting adaptor 1/8G-1/4G 4% #: 1% 3£1/8G-1/4G

Connecting adaptor 1/8G-3/8G 4% #$#:£1/8G-3/8G

Connecting adaptor 1/8G-M14x 1§ $# $1/8G-M14x1

Connecting adaptor 1/8G-M16x1.5;# #:1%3k1/8G-M16x1.5

Central adaptor torch side Plasma 5 pins;% & F o 5 i k/5%t
Circle cutting attachment/LT100-151;[5 & ) £ Bf 4 LT100-151




